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Question Number : 1 Question Id : 3419798950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For vectors A = 2i + 3j + 4k and B=4i+3j+2k, the value of A x B is
2DAOBT BV A=2i+3j+4k 00030 B = 4i + 3j + 2k 9005 A X B Dend

Options:

, —6i+ 12j — 6k



_ 60+ 12 + 6k
. —6i —12j + 6k

, —6i+12j+6k

Question Number : 2 Question Id : 3419798951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A= 2xi+ byj + 3zk: if A is solenoid vector then b=
A =2xi 4+ byj + 3zk: A 263 I°®ran& V&P 90D b=

Options:

-

Question Number : 3 Question Id : 3419798952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If r represents the position vector then A G)
F 036 Y 30630 2rdd V2 (1)

Options:

, 0

Z. l

3 oo

4. 1

Question Number : 4 Question Id : 3419798953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

If A = 4i+3j and B= 3i + 4j then value of A.B 1s

A = 4i+3j 60w B= 3i + 4j ©@o0a A B Jend docs?
Options:

49

1.

Question Number : 5 Question Id : 3419798954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

If P is scalar, then V X (VP) value
P 2983 000 V X (VP) dend

Options:

Y

p

2

2P
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Question Number : 6 Question Id : 3419798955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

A rocket burns dM fuel in dt seconds and ejects gas with a velocity u, the thrust
experienced by the rocket 1s
w8 oosed dM Q&ﬁﬁU‘%SU QOGN0 dt bSogiée boblolatel ) &‘}zﬁ}b P03V &3

S0 LIODLL DoDD e8 T°FLS DS DB LILAN

Options:

. M.dudt



, M.du. dt

;2 M.du
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u
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Correct Marks: 1 WrongMarks: 0

Two masses m and 2m move in opposite directions with equal velocity u and stick
together after head one collision. The velocity of the combined mass 1s

GOEOPB0RL M HOOCED 2m $v Tocdd Srden D80S O3S & VATD DAdwS
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Options:
pi
T S u

- 0

n u/2

Su/3
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Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0

Two perfectly elastic spheres of equal masses collide at right angles. The angle

between the directions of their motion after impact is equal to
G0t g B Do BTP(OR OSSO B, & A0 BSTTPON

DB BB VedPred
Options:

1 0°

90°

2



_ 180°

; 2

Question Number : 9 Question Id : 3419798958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

In the Rutherford scattering formula the number of scattered particles per unit area
depends on scattering angle ¢ 1s

A0 DO DOEDED QA0S DA DT V[0 oL DOFDEI0 WO SEaDVL QoS
0080 Sradw ¢

Options:

Inversely proportional to Sin’o /2

SIn"@ /2 £ DS Ar0IeH0e5° $9)0eod

Directly proportional to Sin" /2
SIn"@ /2 £ 93065 ArOI 065’ )otod

Inversely proportional to Sin*e /2
_ Sin' /2 £ DS AEFr0IS0e” @otwod

Directly proportional to Sin‘e /2
Sin*p /2 £ 9065 ArOIeH0eS” )otod
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Correct Marks: 1 WrongMarks: 0
In an melastic collision the conservable quantity 1s
IS @%ﬂ D&RIDDPB0S” DA 00 GRS 0BT

Options:

Kinetic Energy
32 3S

L



Momentum
Q&ﬁsérﬁa
2.

Heat
a:gm

3.

All
eﬁbcl

4.

Question Number : 11 Question Id : 3419798960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An engme develops 22/7 k.w power when rotating at a speed of 600 r.p.m. What 1s
the torque acting?
600 rp.m. & B68 cogio DD 22/7 k.w. 900 3 aogom D Bo50 rnEHn

T

eV

Options:

| 50 N-m

1

” 100 N-m
o 25 N-m

. 200 N-m

4

Question Number : 12 Question Id : 3419798961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A circular disc of mass 25 kg and radius 1 m is rotating about a perpendicular axis
passing through the centre of mass disc 60 r.p.m. Its K.E. 1s given by

25 kg @073 S DIy SeED0S0 (T9°go 1 m) & Sogo A0w) EDOBRVBVIL

Lorrom ) g0 oty 60 r.p.m. & G0 BB A. TP (1 3 Dewd
Options:

50m2]

1



25
. 253

Question Number : 13 Question Id : 3419798962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

We know angular momentum L= T x P then x component of L is
B o L= Tx P ©ond Sedod B5{D 0D AL, X 0T DLV

Options:

! Z_[]K-sz
VPx-X
5 P %Py
_ YP2Zpy

. XPy-YPx

Question Number : 14 Question Id : 3419798963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

If T is time period of revolution and ‘a’ 1s semi major axis of the elliptical orbit of a
planet, then Kepler’s third law 1s given by

T Eomrddd scodw, ‘a’ ég} QY& S£] AI0E), Y (DD B0 VAN SR JATCe

QTP
Options:

T a?

2TD€£¢:3

. T2 o« 2
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Question Number : 15 Question Id : 3419798964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Two satellites of masses 50 kg and 100 kg revolve around the earth of radius ‘R’ with
orbits of radil ‘9 R” and ‘16 R’. The ratio of their orbital velocities

50 kg ob6odn 100 kg Q&ﬁﬁU‘”%\Jw o Coth &0daden ‘9 R dadw ‘16 R
m?gbﬂgﬂw 3) S,Ei!gvééﬁ ‘R’m5$°go g0 ZPD oG DOPOIY T SF
2S00 AND

Options:

3/4
1.

4 16/9

Question Number : 16 Question Id : 3419798965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
The altitude of Geo-stationary satellite 1s approximately
R BEDHEIE0 B0 KL dodh by &t

Options:

36,000 Km

1.

38.000 Km
34 000 Km

28,000 Km
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Correct Marks: 1 WrongMarks: 0
With what velocity should a particle travel so that its relativistic mass is double to its

rest mass”?
G000 P&, BD(T°3 T DB BOTO°IS G 05T (0€) TP (10D Do
ozd?

Options:

&

1.

05C

2

_0.866 C

L7132 C
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Question Number : 18 Question Id : 3419798967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The particle of mass m 1s least when
SIS Q)QQSU“-? 55)?.&5&3&?‘1‘“ €200 f‘%@
Options:
the particle 1s in motion
RESISY SIS0 &) D

the particle 1s in acceleration
, SORY @agdmméﬁ €50) 3D

the particle 1s at rest
RSN ) aéﬁeﬂ@m

the particle 1s m vibration
, DR DS0DDANS” &) 2D
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The rest mass energy of an electron 1s
DB 0 J BS” Jugrad s, B33
& ) s
Options:

L 0.5107 MeV
_5.107 MeV

, 0.5107 eV

,5.107 eV

Question Number : 20 Question Id : 3419798969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The combination of two mutually perpendicular simple harmonic vibrations of equal
amplitudes and equal frequencies is the phase difference n/2 is

QAP 00 DOV LHIB03L DA aﬂé;-‘@sasow £0AD a’:d?obcims 00T

Dol DO T.J"U"ejéé IRSINPeSID) &‘}JC;‘)TS GB® 23000 /2 90003 T°8 &a‘.oé& ST

Options:
Ellipse
) OF Dy
Cirele
Sy

Straight line
O O

None

SES)
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A particle executing S.H.M. has a maximum displacement A and maximum energy E.
At the mstant its K.E. 1s 3E/4 its displacement 1s

20.57.09.65" QXY €60 B0 PO PoBoA, 103 33 E oo (192 3§ 3E/4 00008330

ALY %"Sﬁ BoBo

Options:

A/4

1.

Question Number : 22 Question Id : 3419798971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The frequency ratio of a source to the wave 1s

208 DPRDRDEDVOL B0 DPREYELVOL (1) DS

Options:

Question Number : 23 Question Id : 3419798972 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In an experiment a simple pendulum 1s vibrating in S.H.M. Kinetic energy of the
pendulum at which its potential energy is maximum, 1s
Options:

1 Maximum



, Infinity

5 Zero

, Negative

Question Number : 24 Question Id : 3419798973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
In a damped vibration if b= 0.5, T= 1 sec, then the quality factor 1s
28 DAY &0 A’ b= 0.5, T= 1 sec od e era8Hn Jed

Options:

, 6.28

3.14

4 None

Question Number : 25 Question Id : 3419798974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A steel wire 1 m long has mass lgm is stretched with a tension of 400 N, then the
fundamental frequency of the wire

I m e 1 gm Gadqoe? o 855D e9d5e 400 N 9008 86 FSD0g rH:3Deajo
DI

Options:

, 200 Hz

, 2000 Hz

_ 20,000 Hz

y None



Question Number : 26 Question Id : 3419798975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
The energy density of a stretched string 1s directly proposal to
FHEARD A" 3S JroGed Dewsd BAS 905 ArOr0eS” H0od

Options:
Frequency

. 3“&2@&50

Square of the frequency
. E'B"A‘Jgt’.g;)a‘)é DGO

Cube of the frequency
. DR LODLVIL

Square root of the frequency
P DEYRY DGRV
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Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Longitudinal waves are produced 1n

PoNI(GHS Sorren S0 TS HE Mok BAociR?

Options:
Strings
5

. %Dﬁ;}

Woods
S0 X8

2 ot EJ

Rods

=
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Correct Marks: 1 WrongMarks: 0
The frequency of ultrasonic 1s
8 SO %“R‘J:‘-D_)RJ&D

Options:

<20 Hz

1.

, < 20,000 Hz

~>20.000 Hz

3

lies between 20 Hz and 20.000 Hz

4
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Correct Marks: 1 WrongMarks: 0

The sound wave having frequency less than man’s audible range 1s
2PR0DD DISE S0l B O :3Yeago DA 5D BBorren
Options:
Supersonic wave
. 06 IS sdorio

Ultrasonic
Qe ADE

2

Infrasonic
'933“‘353635

5



Audible
e35.80ed
4,
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Correct Marks: 1 WrongMarks: 0
Find application of ultrasonic

e&@cﬁs&'} 0333335 RIOFR0
Options:
SONAR
Qb

Sensitive flame

2DNOS B o

Thermal detector

31 G\
. Y% 3
., occed

Question Number : 31 Question Id : 3419798980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Magnetostriction means

egc:d.)ibboej DB 99T

Options:
Change in the magnet

egoi;bvzjoaméﬁ 060y

s

Change m length

i T DS’ BICdy



Change 1 the poles
] Cﬁg&ﬁ&fﬂ)&) &'iJ"CiJD
Change i the length of magnetic field
O3 o0& EBaa0 T¢DES BICdN
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Question Number : 32 Question Id : 3419798981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

Ultrasonic wave can’t travel through

03 G50 BAM0E DAFBoSTY)

Options:
Solids

2R

Liquids
3

(Gasses

030

Vacuum

-‘6\3"&‘350

Question Number : 33 Question Id : 3419798982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to kinetic theory of gases, the velocity of molecules with the
increase i temperature.

TO30 EDIVR VEF 030V 00 &Y HDOTE LA YL Dffo

Options:



Remains constant

f% SorTe0t0d

1. ;
) Increases

, Feleblablabloln

Decreases
2 OO SBVD

None

ShiS)
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Correct Marks: 1 WrongMarks: 0

The most probable velocity of the gas molecules 1s given by

SIPO30) €9£VNV) ﬁa;& Q02O D50

Options:

kT
m

1.
2kT
m
z.
3kT
m
=
5kT
m
4,
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Correct Marks: 1 WrongMarks: 0

The first law of thermodynamics 1s conservation of...................

&‘éﬁﬁéé ?"’g S0EE) Daddo & .. .3)9‘_‘5739‘_‘95 ~odso
Options:
Momentum
| 8350

Energy
83
2.

Momentum and Energy
_ 8o 33

None

5

4.
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Correct Marks: 1 Wrong Marks: O

The efficiency of Carnot’s engine 1s given by 1. The coefficient of performance of
carnots refrigerator is given by K. Then themr relation is given by

5o8) abogo GES N 578 IBISCE Aogo DI AE B X TrogoK oD 7

SVASS PG
Options:
K=(1-n)n

L,

, K=(1+n)n
_n=HEK-1)

N =K+1

4.
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Correct Marks: 1 WrongMarks: 0
An 1sothermal process 1s governed by
RATRES DYB Jrhocsy oo

Options:
Boyle's law

. asﬂcme'ib QDOA0

Charles' law
: &°0 ) O3S0

| Gay-Lussac law
3-e0J°8 dado

S

Avogadro's law
0 5TE Jaeo
4
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One Joule (J) 1s equal to
28 &°e5 ADS Dardo

Options:

. I N-m
i kKN-m
. 10 N-m/s

, 10 KN-m/s
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The efficiency of Carnot cycle depends upon

58 aogho AN BES B DS BEPEHE €00k

Options:

Pressure ratio

DD DiG ¢S

1

Temperature limits
&8 b0 ¢S

2.

Volume compression ratio

L0DDOATD D08 AN

B

Cut-off ratio and compression

Cut off QxS Ho6osw 208 AN

4
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Clausius- Clpeyrons equation 1s

S DONDE DT°OVEGE0
Options:

dP L

_ar T(Vp= Vi)

P T

dT  L(V,—V;)
2.

dP L

_dr C T(Va4Vy)



dP L
, 4T T(h-V3)

Question Number : 41 Question Id : 3419798990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Maxwell’s first thermodvnamic relation 1s based on one of the followmg
2078y S Ao, Do $8 GRS Doroco §obd TS’ wsd
Options:
) Enthalpy
T
Helm Holtz free energy
e5), FFeS Dy B8
. Wieg a0 SR TS
Internal energy
e9ohGeh 3S
3. 2 2
Gibbs free energy
AEdy LT 3S
., Sy SRS oy
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Correct Marks: 1 WrongMarks: 0

If C, 1s specific heat at constant pressure. C, is specific heat at constant volume. At
absolute zero temperature the following relation 1s valid for a real gas

208 D2 T30 D) Badcidsa HE DAV a0 €y, 2 GDDOBTE0 ¢ DIV e €,
(] (] &) £3 @ @ gy £3

29000 DT &%6 GBI & DQEGEIB SO oA

Options:
G -G =R
Cp > Gy

z.
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Work done in a free expansion process 1s
Ry T(E'W0eS” BOAD D

Options:

Zero
WF{)?SD

1.

Minimum
| 539&0

z
Maximum
. r‘i@‘{go
Positive
q&:a‘“ejés 0

4
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For cooling using adiabatic demagnetisation the following material is used
2 BREGADA) 086 GOTIAOD FBDSCETIS T DR

Options:
| Ant1 ferromagnetic material
e3083 DY eﬂo:baﬂzjoej 29630

1.



Ferromagnetic material
o8 ego:bb“boe:‘a 09630
z.
Paramagnetic material
DT® YOI 08 VDEIO
>,

Diamagnetic material
C5030° 903D 08 830
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Helium gas 1s liquefied at

200 TP BNFHD &Y (e

Options:
1 -209 °C
=320 P
2
-180 °C
=
-270 °C
4.
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Two identical black bodies A; and A, are kept at temperatures 2k and 4k. Then the
ratio of energy emitted by A; and A, 1s given by

G0t DAFHZVD SHH) SR HEVA; 26030 Ay 2k 20805 4k & (S0 3 o,

D DeDBO 3 GIP CAVVBDS IS

Options:



1:4
12

1:8

&

-6

4.
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Rayleigh-Jeans formula can explain the black radiation in the following range
o°® -2 oo i TKY DSCET) G WIHGES” DDOOS
Options:
High frequency region
AT DORYER] et

Low frequency region
, 0N DPRBYE R0

' Entire frequency range

) DDEDE] Do

. Mid frequency range
B065ES” (0 FRIYey Froh
4.
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P }TD]]]E'EEIS are used for measurement of
28 Qe E0dcr8 &HATAI O

Options:




High pressures
| B3O Do

Low temperatures
N &8Y Jsen

High temperatures
08 &Y dden

3

Low pressures
QIR DETPeD
4

Question Number : 49 Question Id : 3419798998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Solar constant value 1s
DS 2 Trogoed

&)
Options:

1240 Wm'™>

1

1540 Wm™

2

1260 Wm™

3

1370 Wm™

4
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All radiations incident on a block body are

EHR DR DD DED 9 DSGET BoC0OTPON

Options:



Reflected
DT°HGD0
1.

Refracted
5882980
2.

Transmitted

HAGo
=

 Absorbed
SOl

4.
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When interference takes place there 1s redistribution in the distribution of
DIAEBEIHN oZDoODDDED € $0B TS HDB(EBGEI0 DO

Options:
Intensity of light
, S°0d D

Amplitude
5 S0 DO

 Phase of waves
2 S0 3D

Frequency of light
503 3”&’):&'1}&‘)}50
4.
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Correct Marks: 1 WrongMarks: 0

In Young’s double sht experiment, 2d is the separation between the two slits. D 1s
distance of the screen from the source. If A is the wavelength of monochromatic light,
then fringe width p 1s

aSo0f 20& DI HAIPHS” HE SPoBBHL P Dewd (86 od WISL &rdo D, Vs

0 (3Bo 2d, Sbor B0 A ©9020:)

D

Options:

2d
1 AD

AD
5 2d

AD
= d

Ad
i B
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Correct Marks: 1 WrongMarks: 0
A phase difference of @ between two waves reaching a point is equal to which of the
path difference

208 Do) WO Bodkd S0l eGoriae) 06 QFPEICH0D T I00DED €8 SPod
SC0ABVL B0ES DE B Dewd & §od TS’ BS VATV

Options:

1.‘1"

W | &

LS

|
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Correct Marks: 1 WrongMarks: 0
In a Young's double-slit experiment, the slit separation is doubled. To maintain the
same fringe spacing on the screen, the screen-to-slit distance D must be changed to

28 aoh 200WdE HAATHs’, DOLL A] BT B8 0BT, HE Deseny

2 Borresomreo B3 S8050 A L0685 B32G0 D Desd ™ ArEE08.

Options:
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In Newton’s rings experiment using reflected light, the diameter for dark rings is
given by the formula. (R is radius of lens used)
DOHGEH SPod PO AT DTN bcﬁbdéﬁﬁ DEB  deasre TPRDVOL
DDEBEA0, (R- 25090 £02375°6 EE2A0 TR Gaa)

Options:

. J@AR) (2n—1)

2vn AR

z.

3 JAR (2n — 1)

4VnkR
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Interference and diffraction of light support the

S{BEGEN SOOIV DDGOAW I SPoB N 36}, DR LVDGLITT®) 0
Options:
Wave nature of light

| 503 eGod QQ)BQD

1

Quantum nature of light
S°0ed 5“50&)5:) qﬁcﬁ&sﬁm

2

Transverse nature of light waves
Sv0e3 @mﬁé c;&cﬁém

3.

Electromagnetic character of light waves
SP08 DEJEIOIT) 0 CI6), W
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The polarization of electromagnetic wave 1s determined by
DE0JEIOIIY, 088 BB0r5s0 GHadE BG) 00 BBV AFaI® &

Options:
The electric field only

1 DS EG0 G

The magnetic field only
) IO, 08 EBB0 G

Both electric and magnetic field

| DesogS oo O3 08 GO



The drection of propagation of
electromagnetic waves
) DEJEI0IT ), 0h SBormen Pokredotd &F
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A lens system has the followimg number of cardinal pomts

2.8 S0E HHOVS SO AG0o 5°Y DO VoYY Ko

Options:
1 Two

. Fowr

. Three

. SIX
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Astigmatism 1s a monochromatic aberration in which the image formed is as follows

Dot DYBE? 90 DDEBDBNES” DB DAD0LIBN €8 DEETT 2HOLI
Options:

Sharp
) “’ro;)‘egnr?
Comet like
&ﬁgmgbw
o

Coloured mmage
_ DG GoreS)



Elongated along the axis
950D VAToBGoM™ J°fd0w)
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The band width of optical fibre 1s
€33 $50e06 A30E), HE) Dekeny

Options:

| 900 MHz

, 900 PHz
; 900 THz

900 EHz
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The Pumping process commonly used in He-Ne LASER
He-Ne G926 €5° Jrer6eaor &003rA00 Honoh 0ok

Options:
Chemucal reaction

BP0 BEIS
1.

Electric discharge
Q0SS & Go
2 & i

Direct conversion
23650 &
, Ve SbLoN



None
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Special characteristics of Laser light 1s
J20 SPo8 ), PSS VLT
Options:

Coherent

E6Q D

Stimulated
D08G
(]

Spontaneous
D8)S

Coherent and Stimulated
Q0838 B0 a% DD
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The output of Ruby laser 1s:
62 G206 G308 DGV
Options:

Sawtooth wave
. G0 Bborio

Continuous wave
5 QFotd SGorren



Pulsed wave
?’.3953 ¢S orren
=

None

S°D
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Which of the following is an example of optical pumping?

$o8 TS DO €82y ES5D0VOA L 28 GTPETCE ?
Options:

Dye laser
& I20

' Helium-Neon laser
oo Dasrd S2b

2

Semiconductor laser
@gmms Se)
= :

| Ruby laser
Eore) Sab
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. What type of laser 1s used in CD and DVD players?
CD 06050 DVD 2, 065" 268208 Gab &0 ed@rA 69

Options:



Alexandrite

9T 0GP
1 & B

YAG

o3°h
2
Semiconducor
290 TP aTPSeeD
3 G

none of these

QD DS
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What does the acronym MASER stands for?
MASER R0£3) D356€3 Q07
Options:
Microwave Amplification by Stimulated Emission of Radiation

| BAOHNS &b DI CodE DD 90 DIAD

Molecular Absorption by Stimulated Emission of Radiation
) GG 66 DIETT Com(o° DBATED T D30

The name of Albert Emnstein’s dog
30NE QAN L) D
3 & 2

None

DD S°)
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Which laser 1s considered “eye safe™?

D Fab 0 "gotd EL o eI 6F
Options:

Laser bar-code scanners

1 226 &Pﬁﬁb& 57;:{353

The excimer laser

D306 Seb
2.

Communications lasers
. 5m5;0§a$ g6

Chemuical laser
| SIS Tb
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Why are lasers used i “Laser Printers”

"G Hotrby" & Faby 0 Do &DAEFAY

Options:
They can be focused down to very small sizes with high resolution
BHE) 5 HOJIES” WO Baarrd & DB FoQEBousdY

1.

They are cheap
ASCioiPe)Teloh i lobb)

2

They are umpossible to damage
299 ) BOEDS e_f:ﬁquBo

3



They can be focused upto very small sizes with low resolution
09 TP S D DOITETVE HEY) D DOATETRV HBL CByoa IO 0
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On the perpendicular bisector of an electric dipole the electric mtensity E and potential
energy V are
DS LD Y, wdeoe Lo P BT w8 Do SG IES £G 39S E

bobleloviV) Dcﬁa&é Jrogém:) V Qensden

Options:

L E=0,V=0

5 BE Yl
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The length of conductor 1s /, resistance ‘R’ cross sectional area ‘A’, then its resistivity
‘p’ 1s given by
208 To5rE0 T ‘17 TG0 ‘R’ aesd a0 ‘A’ 90000 @@ DB SESW p’ Dewd
Options:

 R=pga
,AR=pL
_IR=p A

pR = AL
4
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Hall voltage 1s produced 1 a direction
33565 DevgEho DBy &3
Options:
' Parallel to current and perpendicular to magnetic field
| S80S VAP0 B0, O, 0t IS w00

) Perpendicular to current and perpendicular to magnetic field
, S800K 0.0, A 083 EGIS Voo

Perpendicular to current and parallel to magnetic field
] EB0L05 080, @Oiijea‘zjoej ETr38 DArohGo

Parallel to current and magnetic field
€800, O 0 ETIS DATBG0
4,
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; . : P ; o -
The path of a charged particle entering uniform magnetic field making an angle at 45" 1s

DE6S8 oHI) 0tk EgoeS” 45° a0 & DI 5D IS Sevo TB0E), DG
Options:

Circle
1 ay&o

Parabola
, DTP00300

Helix
m@b@?cﬁn
=

 Ellipse
AGDyeho
4 @
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The primary voltage m a transformer 1s 240 V. The secondary voltage 1s 12V. If the
number of coils i the primary are 1000. The number of coils i the secondary are given
by
208 EP0y 66 &° FADE S T 2240 V. Feo caoteS” S¢F 212 V. A0S coes”
(8] e (] £2 £
1000 e306 €50) Fea chrgdeS” S 48 Doady

Options:

. 1000

, 100
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. Poynting vector ‘S’ given by
F°0000830H DA F LDIFLoTVIE

Options:
EX B
" Hp
EXH
Hp
2.
EXB
=
EXB
2pg
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The dielectric constant of a material 1s 2, then the value of its refractive index

28 Do S, TGS ) T°002 90NN, T° HFHHD LS Dead

@
Options:
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For metals the value of dielectric constant (k) 1s
S L TGS TPogoK Dend

Options:

One
; 2088)
Infinity
; 29:00¢390

Zero
IR
s T
Two
Socid
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- In a p-n-p transistor current flow 1s mainly due to the following carriers
P-1-p EPONR0 & DS PIET0 & Sob SETw HY RALABD

Options:
Electrons

DS A
1. &

Holes
FS,

Protons
eI 0D

3

Neutrons
RAI°{ TP 0D
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Maximum efficiency of a full wave rectifier 1s

G BGofs BF) 6 A0, (0L .5“5.‘)3%50

Options:

40.6 %
L

_81.2%
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In the meta stable state. the life time of atoms 1s of the order
98 F\OT® ) A’ 28 DELPEDRY) CANE), RIS Vo
Options:

8
1 107 seconds

; 10 seconds

5
10~ seconds
=,

_14
) 107" seconds
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Which one of the following 1s called a universal gate?

& Sob S BID FELBE TG DRVI 6
Options:

. NAND
, AND

OR

=

NOT

4.
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The output of an XOR gate 1s HIGH only when
XOR 6385 a0E), 2800 9HE0 T° &0CONE

Options:



Both mputs =0
G0l QA I° 0 YOVRATDED
1.

Both mputs = 1
G0t QAN O 1 0D

2

| The two inputs are unequal
S0l QRO Q° DT ONDRDED
=5

Both mputs are undefined
, 80c QRN Q° AEIOBT DD
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Hydrogen atom does not emit X-rays, because

PE R DEATEVD) X-DSGETPL0 DLVDGIED, S°EEa0

Options:
Its size 1s very small
P HEY) D 000

It contains only single electron
SHVO 8 VT R €00

2

Energy levels in 1t are far apart
38 Jr QWeRIOBG0 TP JE) I
>, '

 Energy levels in it are very close to each other
3S > QLOOHC0 TP HE) D
4 ;
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The visible region of hydrogen spectrum was first studied by

STE B DOITED S0, FOFO 5yFD08 & (VoI

Options:
Lyman
. TR

Balmer
200

2,

Ptund
3 06
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In Raman spectrum, if A is the wavelength of mcident radiation, then the Anti-Stoke’s

lines will have wavelength

TP OY DE ge5°, h 018 DSBS Dédes ééoﬁ@%a €900 a3roed &y Hven 83H ocd

S60RG 0 00D

)

Options:

A
1.
5 A+ AA
. A—AA

2
o
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Which of the following 1s the natural source of gamma rays?
& $00 TrS” M 66T HEDE DI ?
Options:
Radon Gas
: OPC T4

Radio Carbon
X &°0) 8 Sﬂcﬁae%

Hydrogen Gas
TEBD I
=

All the gases
SIP Q3D

4.
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The uncertainty in momentum of a photon in a box of length 1 A is

1 A TPesd do DG & ey S QGayDoio & 03 \adeso
Options:

. LO5 % 10** kg-my/sec
, 2.46 X 10”° kg-m/sec

. LG X 10™° keg-m/sec

None

DD s°H)
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Matter waves are
G5 BT D

Options:
Elecromagnetic waves

1 Smscsmbvzjmj SGorren

TI'EIIIS Verse waves
. @cﬁsé G orTeD

Longitudinal waves

L9, VR0 - 900rTPeD
= =) :

Exhibit diffraction
, DDED STy Sfalolts JetV
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. The energy of an electron having de-Broglie wavelength A 1s

&850 HGotBE. .00 A T (50 D5 S cB8), 33
e “_‘31)'5 E‘} =5

Options:

, h/2m

2 i -k
) h™/2mh
P
11 -"21"'.,
=,

; I
; h™/2mA

Question Number : 89 Question Id : 3419799038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The correct relation between packing fraction P and mass number A 1s
F80f FES P 2080500 G350°3 o] A © 06| DO Dorodo

Options:
m-A

P =——

A
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. The neutrino hypothesis was prepared on the basis of
2 Dedyedg oo GG B DTP 0SB B0
Options:
Conservation of mass
B5{0° 3 QBB A0H00
1.

Conservation of charge
€257 JBSCAoD00
z.
Conservation of parity
08 33 Ao
=t

Conservation of energy
3S Qésésbaﬁma
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The limited number of electrons in M’ shell 1s
M $63Go &5 €08t DO JOVTR Koy

Options:

-

1.

18

(4l
I~
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What initial kinetic energy must a proton have in order to initiate a nuclear reaction with

2 i } i o 5
a® Ni 35 nucleus? (R, = 1.2 x 10 . m)

“Nizs Soggo & Sogd wd| 26OEAS SPdvdDd TErS ) 6oy (dz 33
Ro=12x 10" m)

Options:

| 21 MeV
_ 19 MeV
_ 200 MeV

, 190 MeV
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The mass number of an atom i1s 24 and its atomic number 1s 11. then which of the
following statements is correct?

28 DORIPEDRY GIVE), BOJO°F Doy 24. DEATEW Vo 11, @and & Sob o5’

DOIDHE
Options:

Its nucleus contams 13 neutrons

. & BogoeS” 13 ArgRD Eotraw

Its nucleus contams 0 neutrons

&° S0EoeS” 0 SRR €000

R

Its nucleus contaimns 11 neutrons

_ &S00S 11 Arjsy esotra

Nothing can be said

5 Lah t?)'&):)EjE:ll)
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The axial relationshin of a monoclinic crvstal svstem 1s
D50 DB Jo°) €30 CIVE), 298 030 ?0820¢50 9D

Options:

. a=b=i¢
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Usual structure of crvstals of ice 1s
SULRSNA D PG BP0

Options:

Cubic
o) R0
i

. Monoclinic
X Dsrodh 98 0%

' Hexagonal
208 cdab

5

Rhombic
mmzﬁejod)aws"cﬁ
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The resistance of some materials becomes zero at very low temperatures. Such materials

are called
£ Dorgawen DRoHod” edioy el (056 7O TSI TPEPQ) WT) WPHBE.
£9¢) DTG DD
8] (]

Options:

) Semiconductors

E.*Jg o LI=Pe b Bl Db)
1. G

GDOd CDHdﬂCtOfS

, DOJY SIPEIPE 00

Resistance
& 5 E 000

1



Superconductors

) 29¢3 TPETPE e
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Super conductors are discovered in the year
BT*IPS A SAH D) DodS G0

Options:

1900

1

, 1991

_ 1911

, 1905
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Based on magnetic response super conductors are of types.

@M%‘GD@ SIS meé} D% Fo i 11=1-3 b JE— gsee

Options:

p 1

2

2.

Ll

=
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The shifting of electrons 1n superconductors is prevented by

9D I°LTSreIeS” QOTD 280D AT Ao

Options:



Ouantum effect
1 513508.35) D080

Threshold enerev level
QerdIw 3 @; o
2 *
Energy barrier
| 38 0SB waw

Orbitals
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In super conductors. there isno  _______ passage of electricity.

SISV DS YT°ET0 & ------- €5065C30
Options:
Conductance
PP SedCo
: S
Inductance
D0EedCo
B >

Resistance
a&ﬁc;gay
o

Impedance
; 0958 9S0



